SF4EE 2R 1TEFE =& RN

BB 1% A 1T =
1] K |OHRESHZEES (HX) [FADKER] @FHTH14:50
AES OARBES(246%F) @IEITHILEE (B6LE-448 @D4tnr-44T)
Q{1515
3] 2 OAFRBEL(2355F) @F7VYTEAL
= 1@ AEASFHBAS 13:00~14:00
4] =
5| B |@&REIR (25 4E)
6l B HEAML @TONEARN OFERIIERS:10~
KRN EHEVRESBARATEET) XFUALAIKYER (~108)
7| 4 |OFBIALBEL) @THTHAL
QAT VS EEFKEK 1BIH 1255~ 2[EF13:05~
8|k Q=ML ORESKZESIBES(FT/1Y)
@ F ik T4:14:50
9| K |@KEEL(2465) @ F R TH:15:15
10l = OAREEL(1355)
“ |@IBESEH - FERKES(2-1513:00~13:45, 3-4414:00~14:45, 5-64E15:00~15:45)
11| £ |BERZSDA
12| B |@&R[EIUN (357 £E)
13 H E}%%g’rL\ X%L\éoEFﬁﬁ(~17E)
KgorEYWEWNEDI—H(~17H)
14| w OFMRMAAL @ N SEBEHEENHE (2465 ) 10:05~10:20
[ YPEEPN
15] K |@FHIAML  @FFHTHK14:50
16| K |@AXBES(246F) @FELD (FL{f)
17l & OAKRBEES(1355%F) @T7YTHAML
= 13623h36055% 2 EH) (28 ET)
18] =
19| B |@&R[EIUN (45 £E)
2| B O3 EIEE OGESA L @I OMNAR
XBZ5L8 ANEMNER (~248)
21| % QFEMAAL (L) @FvTRAL
@ o ¢ BESE)I#E (1354E) 10:05~10:20
22| K |@=FHR2A L Q=R T#514:50
23| K|XEH&£EH
24| 2 OURBESBLHEURE) O7VT4/4L OKRBEEFEATE(2/243)~2/26)
= N@ERTFIT/(TVIRLIT-1ER) OBHASMNMEESRS13.00-
25| =
26| H |@EZREUN (5657 £E)
27| 7 OESA L )
NEZEEXBEERR GNTECOIRBEEFCEMNER)
28| « Q@R AA L (kL) @FVYTERAL

Q6 FAEHEZIRENE OHNERREH (1~5%5)




